= A
N = 0] &F AF S & AN A
2N HS22H2AY
HE: 54c 2el
2 Sl HelAld 849 (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
sl AFY A 19,119,621 20,811,491 N 1,691,870
2 4,728,500
Xl 2,600,000
& 271,428
= 11,519,693
ote=& &2 11,611,980 12,179,864 N DB67,884
= 4,695,500
= 6,916,480
ol %= IAlE 29 2,197,378 2,202,001 N4 ,623
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o AtgAzZte] S&H dXE 500,0008 * 23] 1,000
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01 Al&H| 43,000 49,000 A 6,000
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20,000,000 = 14! 20,000
o TORK 22 (FSBZ S)
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o £ATHS & Ml Bal 242
750,0008 = 12& 9,000
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- AE= 80& = 9,100kWh » 12& 8,736
o Sg=s3CX XM g 2ER=
1,930 * 12JH 4 + 12& 278
206 M= Hl 400 400 0
01 M2l 400 400 0
o S3=3HN QHE+HM2E Fala ¥ 2
40,000& = 10 400
401 A EHI L 2O 10,000 12,000 A2,000
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o XEAXFP AR ol HUAIYE 22|
153,000,000 153,000
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02 2teld| 80,000 300,000 A 220,000
o HHIP ARE ol HUAIYE 224l
80,000,000 80,000
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EA: HS2H2AEL
HE: 54c 2el
72 23206t HUIALY (2 &HH)
- _ _ RE]
CEB B (3H) - HRAY - BAS Ol At o %@ﬁ HRE2
= 56,000
= 24,000
03 AlE 21| 4,000 10,000 A 6,000
o YR ARB St E FHIAY 2O
4,000,000& 4,000
2 2,800
= 1,200
HEDISol4eE dHl-22X32 428,570 0 428,570
= 300,000
= 128,570
401 AIEHIZL 2 0HY| 428,570 0 428,570
= 300,000
= 128,570
01 Al&H| 375,870 0 375,870
o YEIFP AR oIS AU AIY
375,870,000 = 1JH A 375,870
= 263,110
= 112,760
02 2teld| 50,000 0 50,000
o YEXP ARE ol AHUAIY 22|
50,000,000 50,000
= 35,000
= 15,000
03 AlE 21| 2,700 0 2,700
o AN AR 54T UMY =W
2,700,000& 2,700
= 1,890
= 810
NS - 4,999,812 6,477,586 A1,477,774
Xl 2,600,000
o=t 271,428
= 2,128,384
A 22 4,999,812 6,477,586 NT,477,774
Xl 2,600,000
= 271,428
= 2,128,384
HE Ngae-E AX 27,732 42,687 N 14,955
201 B9 4,032 4,116 N84
01 A2 22l 4,032 4,116 A 84
< ZEHl > 0
o M4T ¥R A I
7,0008 « 6H » 82 « 12& 4,032
202 04d| 3,300 5,000 A 1,700
01 2Ll 3,300 5,000 A 1,700
o Mg 2R XX
20,0008 = 5% x 33¢ 3,300
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2N
X ZH -
L= B

el

gesne AL
-1
AsEel

- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 20,400 0 20,400
05 QIZ2tRE 2 20,400 0 20,400

o ANeaxz NSHHEH (HH=X,0I2E) 8
Xl 22| o2t & 1,700,000& * 12& 20,400

AT Ad SEAY 1,103,960 1,438,000 A 334,040
401 Al EHI L 204 HI 1,103,960 1,438,000 A 334,040
01 Al&H| 1,100,000 1,430,000 A 330,000

o MAT SAEAM Y 24

50,000,000& * 44 200,000
o MATANE HIAY

50,000,000& * 10JH 2~ 500,000
o MaPR o A

50,000,000 * 62 300,000
o XNegaxE XUSHOAH (WX, &) 2
= 2,000,0008 = 5004 2 100,000

03 Al 201 Y| 3,960 8,000 N4 ,040
o MATAE HEAY =X
1,100,000,000& = 0.36% 3,960

lsatsE =222 60,589 53,472 7,117
201 et 52,445 49,352 3,093
01 AR 22l ] 52,445 49,352 3,093

o DISN4T M4 2EAMN 222 37,795

- 138t 2 At 56,500 * 68IH A * 43 15,368

- 58&t= HAF 329,8008 * 68 A * 13| 22,427

o DISM4E [+ +FAM 248

250,000 * 520 = 13 13,000

o 58 BEEINAN &2t 5504 = 3,0000H 1,650
206 M = dl 8,144 4,120 4,024
01 X2 H| 8,144 4,120 4,024

o DIS44E A4BY 8,144

- AEXE 4,000& * 2,000kg 8,000

- M2 AAL HAFAI 12,0002 = 1204 144

OlSsatsS AIEINA 93,245 105,570 N 12,325
401 Al HI L £ 0HHI 93,245 105,570 N 12,325
01 Al& B 93,245 105,570 N 12,325

o (Ig&s+t =ZT2H P2

3,500,000 = 20 A 7,000
o OISa&x=E =Xl ZAIAIAE 2=

3,300,000 = 504 A 16,500
o OISA&AEE AlE Ex

2,000,000 = 15J0H 2 30,000
o OIS&xE ML (2H3) 34

443 000 * 6500 A 28,795
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M 2SI EL
M AT 2
el a2 (el &)
SA - BB B () - MM - BES Ol &t o San HmEET
S olcE ZsAA(%4H) sNEsae
1,250,000& * 300 £ 3,750
o HaHRANE SNB2(LEH,ASI))
2,400,000& * 300 £ 7,200
A2 =S A HEAS(SLXF) 500,000 450,000 50,000
Xl 350,000
s 150,000
401 Al I 28I 500,000 450,000 50,000
Xl 350,000
s 150,000
01 A& HI 496,500 447,000 49,500
o BUANT ALY +EAE HBAL
496,500,000 = 10H 4 496,500
X 347,550
s 148,950
03 Al 2 THHI 3,500 3,000 500
o SUNT AAD +EAE HBAY =&
3,500,000 3,500
Xl 2,450
s 1,050
AR =S A HEAS(SoHXF) 500,000 450,000 50,000
Xl 350,000
s 150,000
401 AIEHIZ 28I 500,000 450,000 50,000
Xl 350,000
s 150,000
01 A& HI 496,500 450,000 46,500
o SotNT AL =T AE HEBAY
496,500,000 = 1JH 4 496,500
Xl 347,550
s 148,950
03 AlE 2 THHI 3,500 0 3,500
o SotXTF ARE =EAIE HEME =
3,500,000& 3,500
X 2,450
s 1,050
sHE MEzs HL(S0XF) 1,571,429 2,000,000 A428,571
X 1,100,000
< 157,143
s 314,286
401 AlEH 2 2 0hl 1,571,429 2,000,000 A 428,571
Xl 1,100,000
< 157,143
s 314,286
01 A& tI 1,565,829 1,995,000 A429,171
o SHEMEES NEMS(S0IXF)
1,565,829,000& * 1JH A 1,565,829
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2N
X ZH -
L= B

el

= - — SHE]|
CHB G (BN) - HRAMY - BES Ol &k o8 il HlnE2
Al 1,096,080
< 156,583
= 313,166
03 Al 2 THHI 5,600 5,000 600
o SHEMEES HLMA(S0XT) =T
5,600,000& 5,600
Xl 3,920
< 560
i 1,120
SHE MEE4 HE(S8HAR) 1,142,857 1,937,857 A 795,000
Xl 800,000
< 114,285
s 228,572
401 Al HI & 28I 1,142,857 1,937,857 A 795,000
Xl 800,000
= 114,285
s 228,572
01 A& HI 1,138,857 1,932,857 AT794,000
o SHEMEES NEMS (S F)
1,138,857,000& * 1JH 2 1,138,857
Xl 797,200
< 113,885
s 227,772
03 AIE SR THHI 4,000 5,000 21,000
o SHEMEES HLMA(SSHXT) =T
4,000,000& 4,000
Xl 2,800
< 400
i 800
! gL (H2SA2AE D) 78,643 80,375 N1,732
23l 29,179 30,572 A 1,393
23l 29,179 30,572 A 1,393
101 14 Hl 29,179 30,572 A 1,393
01 2= 29,179 30,572 A 1,393
< =g > 0
o AN2Z2eSE
9,649 * 21 = 12A12F = 128 29,179
a4l 49,464 49,803 A 339
=3l 49,464 49,803 A 339
201 LB-2E| 44,384 44,723 A 339
01 At 2t 2l 37,038 37,024 14
< Lek=ZHl > 0
o AR 2 22F P22 25,0008 * 405 1,000
o MXUEAI B8 7Y 1,796
- Cg o dMAEE 300,000& * 23| 600
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2AN: HSS2A2AMEL
. HNSHBH (A2 A2AIHA)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- El 598,000& * 23] 1,196
o doldEeEH EY 250,000 = 7CH = 23] 3,500
o MYJIEE F¢ 700 = 300H = 128 252
o SAMEXN 7L 25,000 » 62t A « 12 1,800
o HHEE F2¢ 150& = 3,0000H 450
o NERSZ 3,480
- %X 18,000& * 55 * 12& 1,080
- XX 10,000& » 208 = 12& 2,400
o gxg A7 U JIEEE
90,000& * 2%& *x 23] 360
o XEHIBA =2 50,000& * 23] = 204 200
<gg=s4g > 0
o YAaY 50,000 * 484 24,200
02 324l 7,346 7,699 N353
< ES3SL2ZHA > 0
o ELXelAE FEIH(HIINA) AIES2
45,000 * 23|& x 128 1,080
o AHdYUSs 23 34,800 * 12& 418
o Aol AIEE 880& * 50& * 128 528
o RERZ 260
- 2B H 3003 * 4024 x 12& 144
- SJH 1,930 * 524 = 12& 116
o BIAMNHREEZ 40,000& * 23] 80
< XHEHH| > 0
o I (HAX, CHEZT) KFHI|
1,192& = 2,5004 2,980
o I (HAX, HEZ) K22
1,000,000& * 204 2,000
203 R =&Y| 5,080 5,080 0
02 HRJAE R =&Y 880 880 0
o A& AJIXE AU 40,0008 = 229 880
04 EANSHLRF=AH| 4,200 4,200 0
o 302 0|at 350,000& = 12& 4,200
WeES(H2SURIAMHL) 2,429,186 2,073,666 355,520
= 33,000
= 2,396, 186
WEHAH K= 2,393,386 2,031,666 361,720
WEAHHX = 2,393,386 2,031,666 361,720
701 JIEIS HSHEZ 2,393,386 2,031,666 361,720
01 JIEtSI HE &= 2,393,386 2,031,666 361,720
o AT AIESEEIH MES
2,393,386,000& 2,393,386
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